Word Problems: Adding and Subtracting

Solve the problems using addition and subtraction

Julia has 6 candies. She gives 3 to Emma.
How many candies does Julia have now?

Maria has 5 cupcakes in her bag. Jessica
eats 2. How many cupcakes does Maria
have now?

Max has 8 marbles. He gives 2 to Joshua.
How many marbles does Max have now?
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Max has 9 marbles. He gives 5 to Joshua.
How many marbles does Max have now?

Julia has 9 candies. She gives 4 to Emma.
How many candies does Julia have now?

Maria has 4 cupcakes in her bag. Jessica
eats 2. How many cupcakes does Maria
have now?



